eyl 11 161-17C ' 181-19C ' D(C 201-210 ' 221-230  231-240C 241 - gbove 250
Hlumber Sense O @ O O O @ 68 equals Round 68 to the nearest tens place. @ ..@ @ What is 16—2 in simplest form? -18[1 -6 What is the Greatest Common What is 2% written as a decimal? 43,000 equals: What is 162% written as a fraction?

. . . . . . . . F f 54 d 72? . . .
Students understand and apply : % Q D UA60+8 POAT8 : @@@@@@ @@@ CUAL o p ractorofxdan ©A225 DA 43x10° DA e
concepts of numbers including : How many? A 2 3 4 5 1 B o60+80 S VB 70 : : 12 ¢ Whichis the correct symbol for the box? A9 ©OBo21 D VB 43x10* : j_
representing, identifying, CoAs 1 ©oCoe+s Coceo : Howmany dozen doughnutst L0 ? DVA < VB8 P vCo21s DC43x10° . 103010
coufmng, comparing, ordermg, B 5 ‘Which shows 2 of a pizza? D. 600+ 8 D. 80 POA3 C b B. > C. 1 D. 2.13 D. 43x 10* JC. 1%
equivalence, and number theory. : : : : : : 1 : : : 62

oce DAl D. 4 P E 6+80 1 E 100 : B4 ¢ Dog C. = D.2 i B 25 P E 43x10° : Do 1igho

D. 4 E JB. 2 E. 5 E E E C. 21/2 : E 1 D.3 E. 6 E E E E. 162
E 7 C3 VD2 : 12 PR : : :
D OE4
>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>> >>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>> >>>>>>>>>>> >>>>>>>>>>>>>>>>>>>>>>>>>>>>>>> >>>>>>>>>>>

Estimation and 6+2=[] : 63 99 : 23 is 3 032+8= : Which is the most appropriate estimation for -6+ (-7) = : 8 s what % of 327 361 (-3 8) = SlmphfyS“

k . . ~ . 7 7 . T 7298 x 6327 . . . .
Computation CoAd4 P P N : . A 43 : il DA 413 Poal Duasl DA 625
Students understand the ©B.26 POA DA DOAS6 PoAT © o B.0I5 ;A 7298x632 © Bl ©B 4% 1 ©OB 4
processes for computation and ToCo 1V B.97 ! B. 155 1 B.66 :OB.2 PV C0.04  VB. 7000 x 600 DoC4a YC20% : B.47 e L
can accurately compute and solve ! ¢ p. 3 CoCT71 P C.53 P VC 69 : ve. 2 : o D. 280 i C.72984x632.9 i D1 DD, 25% :C 1%4% : 0z
problems using whole numbers, g ¢, N T S uD. 43 © D59 o7 E. 43.75 © D.7290x600 S VE -13 R 256% C b z D20
fractions, decimals, integers, : YR 31 YR m COE 68 D.0 Y E 8000 x 600 : A : : E. -625

3 : : : E 7 E. -172

rational, and real numbers.

>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>> >>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>> >>>>>>>>>>> >>>>>>>>>>>>>>>>>>>>>>>>>>>>>>> >>>>>>>>>>>

A|gebr0 : Which number does not fit? P g+7=13 P 1406=8 Ps2-0=12 P21 +6+0=30 : Which point of the P Ifén=102n equals Evaluate gh - b if : Whatis the missing value of y? : Factor x*- 5x - 36 : What is the x intercept of 4x + 2y = 82

: graph shows the :

StudenFs understan.d and.apply :2,4,5,6,8,10 ¢ O equals? : O= ;0= O=¢ : fooli dinates (9,8)7 7 DAL i g=4,h=9,b=12 DOA4 <y A (x-6) (x-6) DA

algEbg‘;lc o m,cmdll,ng, DA 10 AL DA+ DAL 30 DUA3 LA A 8 DB 17 DA 48 P VB3 311 B. (x+9) (x-4) D VB2

:fperr;ssﬁ)i fa;iﬁsésﬁlizﬁzg B. 6 : B 18 P JB. - ©OB.32 :OB.9 : B' 5 5 C. 108 YB3y ToC y=-2x+5 01 Z C. (x-36) (x+1) oC4
s : : : : : X 6 : . : :

, o : . : : + : : : D. 196 : : Do VD (x-9) (x+4 : 1

and inequalities, using coordinate C. 4 : C.9 : C. = : v C. 40 : C. 24 A H . : C. 25 P Lo L (x-9) (x+4) : D. 5

graphing, and solving functions :¥D.5 : D10 : D.< ;D42 . ! bop 3 . 612 D D.24 oo Bl 5|5 - (x+6) (x+6) © B 4

. . E 1 .

and matrices. ;o E8 PVE®6 i B> : Bt PR :
: : : : : E E 01234567891011125

>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>> >>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>> >>>>>>>>>>> >>>>>>>>>>>>>>>>>>>>>>>>>>>>>>> >>>>>>>>>>>

Geomet ry : Which of these is a triangle? : Which makes us think of a circle? : Which point is on line DE? Which ﬁgures show a line of symmetry? How many sets of : What type of transformation is shown? Which of these is a diameter of i Which of these has a rectangular base and Using the Pythagorean Theorem, a* + b” = ¢?, : What value of x would make these
E . . . . i i . . ircle? . i ? . = = =2 : imilar?
Students understand and apply  Which shape i the same size and N O D © A block NS Fha:glgelll::;es are in \l\ © A translation : the circle? : four triangular faces? : whena=9andb=12,thenc=1? pentagons similar? B o
geometric concepts including * shape (congruent)? : © B pen 1B A - . ‘ © B, rotation : A. cube CoAs T X+
1dfe;1t1ﬁc:11t;olr; arl1)d classification N % D, : ¢ door Y occ : Al © G reflection : B.RS B. rectangular prism i B2 ioB1
©if 2= gl =D © .JeCtS> ?Yn.’lmetry : : B |:| E. I:I © D, afootball field 1 UD.G B. 0 © D, symmetry tvCQr : C. triangular prism R AGR L] vC17
and transformations, similar and ~ : Iﬂ : : : I VA 1,4,and5 D. land 4 L UG 2 : : : . : Vo : 15
. B v E. I#I : ' JE. bicycle wheel . EH : : : E. congruent : D.LM . o D. rectangular pyramid ;. D.J21 . D.3 T
congruent figures, Pythagorean E : : : : B.2,4,and5 E. 2,3,and 4 . D5 : : : . . : :
. . : : : ¥ : ¢ E.ZSRT ¢ E. triangular pyramid : E. 225 : E. 10
Theorem, and scale. o Q C : H C. 4and5 ! E 3 : : : : :
Measu rement Who is the shortest? DM%M nnn What is the area of the figure? : Dante has 3 dimes, 2 nickels, and 4 pennies. 107 Select the best estimate for the length of a 4yards =[] * Saraand Miguel need to travel 185 2 Use the formula C = nd and n = 3.14 Calculate the surface area of this * The diameter of sphere A is twice the size
Students understand and apply £ Metric L 2 : 3 : 4 : 5 : 6 : 7 : 8 : 9 ‘1()‘ 11‘ | A. 18 square units ' How much money does Dante have? 2 Lonew pencil A. 16 feet mlle;. They would like to arrive in * Find the circumference of this circle to the rectangular solid. 2? zgg::: igg?::zz;;it?];f the volume
4 : ' : : : : ’ © 3 : i : : ‘

f:once[?ts of measgrement ; i ‘§ % : The pencil is about how many B. 9 square units DoA21e A. 8cm B. 20 feet 2 ours . . nearest inch. A. 79 cm? :
ln(':ludlng mea‘surlng,. COINCISIONY : . centimeters long? ¢ C. 20 square units tOB.29¢ ¢ What is the perimeter of this rectangle? B. 18 m ¢ JC. 144 inches in ;t }I:;uSt ¢ theiraverage speed, D VA 157 in. B. 110 cm? 3cm VA 8:1
using a[?proprlgte units, and Annika  Daniel  Lucia  Meiko  Marcus YoD16 square units C. 36¢ . . ¢ v C. 18cm * D. 80inches P * B.150in. i G120 cm? """""""""" B. 1:8
calculating perimeter and : ¢ AScm D.4em : . : POAL2 D. 16 T : . I A.24mph D. 57.9 mph . I D 128 cm? - 5cm ro G2l
circumference, area, surface area. A. Annika D. Meiko : B.6cm E. 8cm ¢ E. 5square units . D.39¢ 1 JB. 247 E. 20" : - 18 mm :  E 36inches : ’ P Qoo mp C. 1,570 in. : - 128 cm 8. cm D oD1:2
vl ardl wmie, B. Daniel E. Marcus JC. 7em JE. 44¢ C. 8 E 8m : B. 35 mph E. 60 mph D. 53.14 in. vE. 158 em? -

: : : : : : : § ¥ C 53mph E. 46.86 in. o

« C. Lucia

>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>> >>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>> >>>>>>>>>>> >>>>>>>>>>>>>>>>>>>>>>>>>>>>>>> >>>>>>>>>>>

Statistics and i (o & & & =1 picce : Who read the most books? : S S;udem C;ur::ij_lcht\lzz::esum : : How much more of the dog food sold is dry i Abox contains 13 balls. 3 balls are red, 5 are : Diana received scores of 100, 63, 80, 85 and If the average of five numbers is 50 : What s the probability of getting 1 red pen Ages of the First 37 People to Enter the Museum © The teacher told the class the average” score
PI’ Ob a blllfy A | & of candy : Books Read : t:ne"t “ T : : than canned? . blue, 4 are orange, and 1 is yellow. ;92 on her math tests. What is her mean :and four of the numbers are 25, 75, : from a case containing 3 blue pens, 4 black : ._D:*_. : on the test was 80%. Which of these selections
D Cm | & &L i A Lane O v 'I( . Dog Food Sold What is the probability of picking a red ball? * (average) score? * 30, and 70, what is the fifth number? * pens, 2 purple pens, and 5 red pens? ; ; ; ; ; ; ; * represents a central tendency of 80%?
Students understand and Dolee | & © B Kay 30 : e : . ‘ ‘ o A% : Y 8 b : : . . S0 10 20 30 40 50 60 .
apply concepts of organizing, Cleo | & & C. Sue 220 - - [fyou spin t?h e spinner 5 times, where will ¢ B.30% Semi- A % v D. % : A 83 A-75 A g v : What percentage of these people are less than v A. mean and median only Test Grades:
reading, and interpreting graphs, ~ : Who has the most candy? © /D Kim 2 : How many votes did Mark get? ; Itstop mosts TCo33% __—4 Moist B 3 e 5 : JB. 84 * W B. 50 — % VE 54 ;10 years old? (round to whole percent) B. mean only 86,78, 82,70,
S . E : . 10 : : : 3% - 10 - 13 : : : : : 90, 76, 94, 84,
.Collectlng and analyZI{Ig.data, find DALz D. Lee DR Al DA D. 17 P VA2 D. 4 VD 43% o1 : g zz g zg c g A. 12% D. 40% g mean, m(eidlan(;and 1mode 70.80.80.70
;ﬁfggﬁ?ygaﬁdcgﬁﬁﬁiE:mg ¢ B A E. Cleo : A Swe Koy kimtae § VB 16 E. 19 PoB E. 3 PR 0% PCn b o : DB E. 19% D mamnand mode only
© /C Cam Students Cocn : C.5 : : : JC. 23% mode and median only
>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>> >>>>>>>>>>>>>>>>>>>>>>>>>>>>>>>> >>>>>>>>>>> >>>>>>>>>>>>>>>>>>>>>>>>>>>>>>> >>>>>>>>>>>
Problem Solvi ng, : ﬁ ﬁ ﬁ ﬁ + ﬁ ﬁ ﬁ — o Alonso has 8 pieces of gum. Gloria gives ~ : 10 students will play basketball after school. : The children ate 8 slices of pizza. The pizza : Suzana is making a fruit salad. She buys 2 . Maria is 5 years older than her brother José. * If you have tables that seat 6 people each, as Rolito is building a staircase. Each : Slugger Joe hit 32 home runs the first season.  : A $30.00 pair of jeans is discounted 20%. If : At the beginning of a trip you had a number of
Reasonin g and Proofs * ¢ him 3 more pieces. How many pieces of * They ask 5 more students to play with them. * was cut into 12 pieces. ¢ bananas, 3 apples, 1 pear, and 25 grapes. She Next year she will be 14 years old. How old is ~ * shown, how many people can you seat if you ¢ block is one foot high. How many * He hit 39 home runs the second season. This ~ *  sales tax is 5%, what will be the final price for * quarters. On your first stop, you spent half of them.
U 1 ¢ gum does Alonso have now? . . .  paid $3.82 for the fruit. How many pieces of ~ : José now? . push two such tables together on the short side? . blocks will it take to build steps that . season he hit 1.5 times as many home runs . the jeans? ¢ On your second stop, you spent one third of the
: : ¢ If you want to find out how many students ¢ Which number sentence correctly tells you : o ) : : : I : o : : - .
Students understand and apply POAS N © will play in all, what method should you use? © how many slices were left? ¢ fruit did she buy? L sAs : © 0 I:l'—':l : are 8 feet high? : ashe h.1t in h1§ ﬂrs} season. How many home A, $22.60 : remaining quarters. On your third stop, you spent 4
the processes of problem solvin 1 : ) : : : : - : . : ©|:| © : : runs did he hit this season? : - Do : and on your last stop, you spent half of the remaining
the pro 12 8 : B3 P ops : o . : : What information do you not need to know : B 9 : 5o I:I:l LS A 36 : Y B $24.00 : ) h
including understanding and P JC 7 : ’ oA simplify D. multiply P VA 12-8=4 D.20-8=12 * to solve this problem? ’ 1 * Which of these shows a way to solve this problem? R : quarters and then lost 2 more. You have .3 quarters
representing problems, developing  : D. 4 S © B. subtract E. divide DB 8+12=20 E. 20-4=16 : i G0 oA D. 11 : B. 32 —— : PCos2420 : left. How many quarters did you start with?
solution strategies, verifying : E. . : D10 © JC.add O C.8+4=12 : A. 2 bananas D. 25 grapes ¢ D18 : B8 VE. 10 : c. 28 : A 32439 D-39x1.5 ¢ vD.$2520 DVA 42 D. 48
results, and explaining reasoning ~ : ’ P VE 11 : : : (‘é' 3 apples vE. $3.82 :OE oCce : D18 | ] sV E’ 32x1 E. (32x1.5)+39 : E. $2835 S B 60 E. 54
strategies and proofs. 3 : - 1 pear : ! E 13 : 232515 : T



